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For if he want to cut, he cuts — TN TINAY X2 ANWY

OVERVIEW

The X713 explains the Xn*72 to mean that if he wants to cut and separate one 790
(of ¥°21) from another he may do so. Moo reconciles this X3 with a previous
X3 (according to "W D).

nooIn asks:
— PPN M5 NWA HIYY 91N NN DNAN )2 PYNRY 139299 10N

The R'"2w1 is astounded! For the X773 previously stated that by two scrolls we

can divide -
— /N 7993 ©IN%23 1NN 7993 NN 13 10I0NPN Y

And >'"w explained that mM>°1> '22 means for instance 7790 in one scroll and

2°8°21 in another scroll; that’s when they may divide -
— 21 19IY 1PN PPN PR /N TI93 DINYAN AN YAN YU

This indicates that if there was 790 and 2°8°31 together in one scroll, it cannot

be divided even if both want (because it is a 7712) -
— I9NT X2 92N 290 12 ON)

Then if so how does the X713 say here that he may cut one 790 from another, since it
is a P1a?!

MDOIN answers:
ZaD190 NNNN TMNYS XIX 9907 112 91 KT 1Y U
And one can say that it is not a 13912 for the 220 unless he cuts it because of a

division; however if cuts it for his own convenience it is not a 7°12.

SUMMARY
One may cut one 790 from another if it is not for division.

THINKING IT OVER
1. Why was it necessary for mpon to cite *"w1s for his question?’

2. Is there any advantage in cutting a 790 into separate 0°X°21?

"snwa 9ax 1"72 2,3, See “Thinking it over’ # 1.

> When the 1amw want to divide one 190 they need to bring it to 7"2 to be assessed how much each 790 is worth;
this activity is a 7112 for the 790 (it is being treated like merchandise in a market).

? See X"wn.
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